HY®EAL AL R BLAR
T X 4 AT T B R PR ST SR 2T
% BEO L B0
AFL# A SFTHEA4H 28 2R 10
F € i B 585,420  (NHEBL 53,2201 )
HALEE FAE B R BT R 29

R = Bopsies
1T # M SMTHEAA2H ~ AF8tE3A31LA
B E&BE 585,420  (NHEBL 53,2201 )
e SRE | SMTEAA2H
B4 K% i iR 4 g AFL O Tl BT D AR 8 o HEIC X D
M =

(AL EEEIL. HERIREDEREETY)
ra r B o1 [\ o2 [\ % 3 | i %

M A A S [ &2 5E )
R =B

532, 20014 [ % #L ]

MR BRI SRR SOE [ & & ]




2] 1T G =
HYBE4 iy ¥ —
T X 4 — % FEIE AR R ARG T HE R A S S AT
% TR v & —
AFL# B SRTH4H2H 2R 10
I Ml 8,360, 000  (NYHEBL 760, 0009 )
% AL EE etz BB UL IRt BB T g T 46
() I B IR AR B MR v & —
1T # M SMTHEAA2H ~ S8HE3A3LA
% FlL &8 8,250, 000F  (PNYHEBL 750, 0009 )
e SRE | SMTEAA2H
B4 E%E T T HE 4 B A AL FhE I B3 5 B 8 SO IREIC L B
M = [BEFEY) D ALER J OB I B~ 2 15 ) JEfTHRAISE 5 L0 REICHK S X FEEWLBRER OHERF
B M EMN R EEE TS H O
(AFLEEEIL, HERRZOSEETT)
% PR - ]| o2 | %3 [ It %

RERBERLEAFZEET I B3 8, 400, 000[1]

(Ij?%%g%*ﬁﬁf »‘/57“ u&ﬁ'é’% 7.900 000']%

£ , 900,

@%fﬂif%é\ U 'H‘““g‘ u&ﬁ'é’% 8. 000 000']%

):l b )

(#/Bﬁ) u&ﬁﬁ?ﬁ%ﬁié*ﬁﬁf N 7,500, 0001 [ Yg $L ]

&‘_‘




HYEA BB IR
® ¥ 4 (520 X L RAMBREE] 2 EY BT
% HEEED LBV
AFL# B SRTH4H2H 2R 10
I Ml 1,391,500 (PN{EEB 126, 50019 )
HALEE I B ERZIE R r 4-25-1 94 7=a—Ntr 20 18=
XL BY—U R RNMKH
& 1T # HEEED & B Y
% KL & 8 1,089,000 (HNHEBL 99, 0009 )
e SRE | SMTEAA2H
o4 B % Tl FR 4 5 g AALO E i 1 B9 5 B 8 SO BT L D
M = (50 S ERFMREE] ODORZREEY FiIF5ED
(AL EEEIL. HERIREDEREETY)
ra r B o1 [\ o2 [\ % 3 | i %

S<HY—U A MK 990, 000/ [ % #L ]

R SE R [ &2 & ]

R LT [ &R ]

) Ev—t 1, 136, 520

SEfa—FR L — g U [ & B ]




H R4 FRHBE R
F ¥ 4 N e AR IR N A Y S
B BEO L B0
AFL# A SFTHEA4H 28 2R 10
F € i B 1,375,000 (PNIEEB 125, 00019 )
WL EHE IR B3 VA 2 75 R T S WT 1-38
RO B (R
1T # M SMTHEAA2H ~ SFTFEI2A11H
% L& B 863, 5001  (NYHEBL 78, 50019 )
e SRE | SMTEAA2H
o4 B % T i HE 44 S A AFL OO E M B 5 B 8 o IEIC XL B
M = INFEEREE A TR T AR ZAOMY) FiF %2179 D
(AL EEEIL. HERIREDEREETY)
ra r B o1 [\ o2 [\ % 3 | i %

é< %\\/‘_‘UX]\(**) 851,000'3:]

U BRTE R 785,000/ [ % #L )

) &0 —te 1,033, 560[1]

SEfa—FR L — g U [ & B ]




2] 1T i =
HYEA AR H—
F ¥ 4 FEfrihzE iy (CERAIEEEY)
B P HEEED L 30
AFL# A SFTHEA4H 28 2R 10
F € i B 1,386/, /1 (NIHEBL 126,/ )
WL EHE B R — = T B 5 B R K95

(R — A
1T # M SMTHEAA2H ~ AF8tE3A31LA
% AL & 5 1,408,/  (NIHEBL 128M /% )
e SRE | SMTEAA2H
o4 B % T i HE 44 S A AFL OO E M B 5 B 8 o IEIC XL B
M = TR R o X —OFE T LBl A2 R T 560
< MMLEEEI1EH 72 0 OHEBIIKE 0% >
% PR g | % o2 A %03 [ T %

(Sl L2som| [ v AL )




